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Choose the correct answer.
Each question carries 1 mark.
1. Which one of the following is not included in Purusartha-Catustaya ?
(A) Justice or Nyaya
(B) Dharma
(C) Moksha
(D) Artha
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2. Which of the following schools of Indian Philosophy supports materialism ?
(A) Buddhism
(B) Jainism

_ (C) Carvaka

(D) Samkhya
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3. According to Carvakas, valid source of knowledge is —
(A) Nirvikalpa Pratyaksa
(B) Pratyaksa
(C) Sabda

(D) Upamana
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4. Carvaka rejects Vyapti on the basis of —
(A) Vyapti is not possible between two terms
(B) All the premises represent different aspects of truth
(C) Vydpti cannot be taken as invariable relation

(D) Perception does not prove Vyapti
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5. Carvaka believes in —
(A) rebirth
B) living with lust and hell
(C) Moksa
D) ﬁﬁng with kindness
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6. According to Jaina, a substance is that which —
(A) possesses gunas as well as paryayas
(B) is free from all modifications
(C) can never be changed
(D) none of the above
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7. Anekantavada means —
(A) manyness of God
(B) manyness of reality
(C) manyness of individuality
(D) manyness of ﬁn’ng
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8. Saptabhanginaya is a doctrine related to —
(A) Vedanta
(B) Buddhism
(C) Jainism
(D) Upanisad
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9. Buddhist theory regarding the self is known as —
(A) Advaitavada
(B) Sunyavada
(C) Anatmavada

(D) Karya-Karan Vada

5| (@m v SR og & i ofefze zae
(A) TS
(B) *ITM
(C) SHIR_M
(D) RN
10. Which one of the following is not a Buddhist theory ?
(A) Ksanikatavada
(B) Sunyav‘édﬁ
(C) Vijnanavada

(D) Satkaryavada
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11. Pramana in Indian Philosophy implies —
(A) means of knowledge
(B) means of valid knowledge
(C) means of opinion

(D) the thing to be known
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12. What is the most important means of attaining nirvana —
(A) tapah
(B) anasakti
(C) astangamarga

' - (D) atmahuti

vy | i iten FReE sFgeld SHAm e

(A) A

(6)



13. Which one of the following is correctly matched ?
(A) Pratityasamutpadvada - Jaina
(B) Asatkaryavada - Samkhya
(C) Swabhabvada - Carvaka

(D) Mayavada - Buddhism
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14. The first noble truth of Buddha is best started by which one of the following
statement ?

(A) Every being in the world is full of suffering
(B) Life is full of misery -
(C) There are both joy and sufferings

(D) Every pleasure is accompanied by pain
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15. According to Buddha, avidya is associated with —
" (A) present life
(B) past life
(C) future life
(D) all ot_' the above
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16. “Psychology is the science of mental states and processes” — advocated by —
(A) Woodworth

(B) Knight and Knight
(C) Watson
- (D) Stout
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17. The most fundamental character of matter, according to Descarte is —
(A) temporary
(B) coloured
(C) extended

(D) consciousness
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18. Among the innumerable divine attributes the human mind knows only —
(A) thought and motion
(B) extension and thought
(C) belief and motion
(D) thought and belief
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19. Descartes wanted to give philosophy a stable character like —
(A) logic '
(B) mathematics
(C) chemistry
(D) botany
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20. The secondary properties of substance is known as —
(A) modes
(B) attributes
(C) idea

(D) concept
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21. Who is the creator of all monads, according to Leibnitz —
(A) soul
(B) God
(C) appetite
(D) consciousness
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22. Doctrine of pre-established han'non); 1s proposed by —
(A) Locke
(B) Leibnitz
(C) Kant
(D) Spinoza
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23. To solve the mind-body problem Spinoza introduced —
(A) materialism
(B) epiphenomenalism
(C) identity theory
(D) psycho-physical parallelism
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24. Locke suggests that mind knows directly and not the object
themselves.

(A) sensation

(B) qualities
(C) idea of object

(D) thought
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25. Berkeley claims that only mind and their exist.

(A) concepts
(B) quality
(C) ideas
(D) attribute
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26. Snow is Snow — what type of proposition is this ?
(A) Synthetic

(B) Analytic
(C) Contradictory

(D) aposteriori
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27. Self evidence is the criterion for the truth of proposition. Who supports this
view ?

(A) Locke
(B) Hume
(C) Spinoza
(D) Ayer
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28. “7+5=12.” This proposition according to Kant is —
(A) Analytic apriori
(B) Synthetic apriori
(C) Synthetic aposteriori
(D) i\lonc of the above
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29. Reason and experience — both are needed for getting knowledge. Who
supports this statement ?

- (A) Descartes
(B) Leibnitz
(C) Kant
(D) Hume
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30. Who made Copemican revolution in Philosophy ?
(A) Copernicas
(B) Ptolémy
(C) Hegel
(D) Kant
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31. “When we know an external object, we knew it directly through our sense
organs” — which of the following theories asserts so ?

(A) Idealism
(B) Naive realism
(C) Empericism
(D) Interactionism
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32. Which of the following theories is also called scientific realism ?
(A) Idealism
(B) Representative realism
(C) Naive realism
(D) Rationalism
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33. Berkeley accepts the existence of God to avoid —
(A) solipsism
(B) materialism
(C) rationalism
(D) realism
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34. Psychology is the science of —
(A) objective introspection
(B) behaviour and mental processes
(C) inductive reasoning
(D) emotion
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35. Gestalt theory emphasized on —
(A) a flow of consciousness
(B) environmental stimuli
(C) our tendency to see a pattern
(D) good power of recalling
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36. Conscious mind can be revealed through the process of —
(A) introspection
(B) inspection
(C) retrospection
(D) remembering
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37. The first stage of perception process is —
(A) attention
(B) interpretation
" (C) response

(D) exposure to stimuli -
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38. The type of activity necessary to correctly answer multiple choice question is —
(A) recall -
(B) recognition
(C) releaming
(D) rehearal |
o | Ry o REE e Ade 86 (AR & (@ fFm ames — oz —
(A) R
@) gerfew
(C) =P

(D) wep Al

(19)



39, Leaming, retention, recall and recognition are said to constitute —
(A) Intelligence
(B) Memory
(C) Intuition
(D) Imagination
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40. Forgetting refers to the negative aspect of —
(A) Thinking
(B) Imagination
(C) Leaming
(D) Remembering
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41. Thomdike has emphasized upon randomness in leaming because he considered
itasa-—

(A) Trial and error process
(B) Motivational leaming
(C) Latent leamning

(D) Unconscious learning
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42, Aocording.to Spearman, what docs ‘g’ stand for ?
(A) General knowledge
(B) General intelligence
(C) Group intelligence

(D) Gree’s intelligence criteria
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43. The concept of intelligence is closely related to —

~ (A) Motivation
(B) Leaming

- (C) Perception

(D) Cognition

go| % A e fsn o Rualba s wfvei sriFs?

(&) ST |

(B) Pt
(C) =ror=d
(D) CAig/SRLe

44. A perceptual experience, which is not grounded in reality, is called —

~ (A) Delusion
(B) illusion
(C) hallucination
(D) Sannikarsa
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45. Which theory of emotion suggests that emotions are the .
changes in the body ? are the result of Psychological

(A) Two-factor theory

(B) Canon-Bard theory
(C) Facial feedback theory
(D) James-Lange theory
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46. According to Freud, the mind includes memories which can be called

at will.
(A) Conscious
(B) Preconscious

(C) Unconscious

(D) Displacement
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47. According to Freud, all our dreams are based on —
(A) Fear
(B) Melancholy
(C) Sexual desire
(D) Creative thought
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48. Which of the following philosophers is not a rationalist ?
(A) Malebranche
(B) Spinoza
(C) Wolff
(D) Bishop Betkeley
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49, According to Liebnitz, substance is —
(A) pgrceivable
(B) dependent
(C) self active
(D) beautiful
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50. Descartes expresses his doubt that he may be —
(A) dreaming
(B) deceived by God
(C) deceived by an evil demon
'(D) all of the above
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